4 N N N
quark fermion quark fermion quark fermion
RED BLUE GREEN
\g=+2/3 m=1,5a4 MeV/c2) | q=+2/3 m=1,5a4 MeV/c2) | q=+2/3 m=1,5 a 4 MeV/c2)
4 N N\ [ _ )
antiquark fermion antiquark fermion antiquark fermion
iant|UP>
antiGREEN
\_0=-2/3 m=15a4Mev/c2) ( 9723 m=1,5 a 4 MeV/c2) \_ q=2/3 m=1,5 a 4 MeV/c2
- N N ™
quark fermion quark fermion quark fermion
£ OWN y
RED BLUE GREEN
\g=-1/3 m=4 a8 MeV/c2 ) \g=-1/3 m=4a8MeVic2 ) | g=-1/3 m=4 a 8 MeV/c2 )




4 N N )
antiquark fermion | | antiquark fermion | | antiquark fermion
antiGREEN
\ \g=+1/3 m=4 a8 MeV/c2 ) \ q=+1/3 m=4 a 8 MeV/c2 ) \ q=+1/3 m=4 a 8 MeV/c2 )
4 N N )
quark fermion | | quark fermion | | quark fermion
RED BLUE GREEN
\Lg=-1/3 m=80 a 130 MeV/c2) |\ g=-1/3 m=80 a 130 MeV/c2) | g=-1/3 m=80 a 130 MeV/c2)
e N (. R
antiquark fermion antiquark fermion antiquark fermion

\q:+l/3

m=80 a 130 MeV/c2/

\q=+1/3

antiGREEN

m=80 a 130 MeV/c2/

\q=+1/3

m=80 a 130 MeV/c2/




4 N ) 4 N
quark fermion quark fermion quark fermion
RED BLUE GREEN
Lg=+2/3 m=1150 a 1350 MeV/cg | g=+2/3 m=1150 a 1350 MeV/ca \Lg=+2/3 m=1150 a 1350 MeV/c%
e N (O N ] )
antiquark fermion antiquark fermion antiquark fermion
antiCHAR
antiGREEN
0=-2/3 m=1150 21350 MeV/c2 | 972/3  m=1150a1350 MeV/c2 |_ 9=-2/3 " m=1150 a 1350 MeV/c2
4 ) 4 N N\
quark fermion quark fermion quark fermion
\g=-1/3 m=4100 a 4400 MeV/c2) | g=-1/3 m=4100 a 4400 MeV/c? \g=-1/3 m=4100 a 4400 MeV/c?




4 N 7 N )

antiquark fermion | | antiquark fermion | | antiquark fermion
GREEN

\g=+1/3  m=4100 a 4400 MeV/c2) | g=+1/3  m=4100 a 4400 MeV/cg | g=+1/3  m=4100 a 4400 MeV/c?

4 N 7 N N
quark fermion | | quark fermion | | quark fermion

RED LUE

(q=-1/3 m=171000 aprox MeV/c2} | g=-1/3 M=171000 aprox MeV/cg (g=-1/3 M=171000 aprox MeV/cg

e N N (. R
antiquark fermion antiquark fermion | | antiquark fermion

.g=+1/3 m=171000 aprox MeV/cg

(g=+1/3 M=171000 aprox MeV/c2)

\q=+1/3

antiGREEN

m=171000 aprox MeV/c2




/ N N )
lepton fermion lepton fermion lepton fermion
e T
electron tau
=
\g=-1 m=0,511MeV/c2 ) \ g=-1 m=0,1066 GeV/c2) \ g=-1 m=1,777 GeV/c2 )
/ N ] N N
antilepton fermion antilepton fermion antilepton fermion
positron muon M Ttau
Ay ¥
\g=+1 m=0,511MeV/c2 ) \ g=+1 m=0,1066 GeV/c2)  g=+1 m=1,777 GeV/c2 )
- N [ N ion)
lepton fermion | | |epton fermion | | lepton fermion
S m<22eV/ic2 ) 9 m <170 KeVic2 ) _ m < 15,5 MeV/c2 )




-

antilepton fermion

m < 2,2 eV/c2 )

eloa
-Clro
Y Nt ermagne tig

N
boson

@ ¥

Loy,

\_

N (¢

antilepton fermion

m < 170 KeV/c2 )

cC | O
Ol m
-CFICT
I i =l
SEEE
0)]
O
= 3
§<|+N©O
-
0)]

&

N

m < 15,5 MeV/c2 )

~

m=91,2 GeV/c%




- AN AN /




